Tile Riddles by PRIME2 Teachers (continued)
	11)
There are 12 tiles.

1/3 of the tiles are blue.

There are the same number of red tiles as green tiles.

There are twice as many yellow tiles as green tiles.

The green and red tiles together are the same as the yellow tiles.


	16)
There are 15 tiles.
1/3 of the tiles are red.

1/5 of the tiles are blue.

There is the same number of yellow tiles as red tiles.

There are 4 colors.

	12)
There are 8 tiles.

There are twice as many green tiles as yellow.

Yellow and blue tiles are equal.

The sum of yellow and blue tiles are equal to the green tiles.

	17)
If you think I’m even, think again.
Red and blue are the same.

Red + blue = yellow

The majority are green.

2 are blue

Less than 17, but more than 13 is all I have.

	13)
There are 10 tiles.

There are an equal number of yellow and blue tiles.

There are an equal number of green and red tiles.

40% of the tiles are blue.


	18)
There are 16 tiles.
¼ of the tiles are green.

Blue and yellow tiles together are the same number as red tiles.

There is the same number of blue tiles as yellow tiles.

	14)
You have a prime number under 15 as your total amount of tiles.
1 tile is yellow.

¼ of the remaining (or non-yellow) tiles are red.

You have twice as many green tiles as blue tiles.

	19)
There are 18 tiles.
2/3 of the tiles are blue.

½ of the remaining tiles are red.

There are no green tiles.



	15)
There are 20 tiles total, using all 4 colors.

The number of blue tiles create a perfect square.

The number of yellow tiles are equal to the square root of the blue tiles. This is also a prime number.

The number of green tiles is equal to 2/3 of the yellow tiles.


	20)
There are 15 tiles.

Blue and green have the same amount.

The number of red tiles is prime and more than the total of blue and green.

3 times the number of yellow tiles is less than the number of red.


